G. MOUND SLOPE WIDTH & LENGTH
(landslope greater than 1%)
1. Downslope absorption width = absorption width (F)
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2. Calculate mound size

UPSLOPE

a. Depth of clean sand fill at upslope edge of
rock layer = 3 ft minus the distance to restricting layer (C1)
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D-34: SLOPE MULTIPLIER TABLE

b Mound height at the upslope edge of rock

layer = depth of clean sand for separation (G2a) | Lana UESLOPE DownsLor
at upslope edge plus depth of rock layer (1 ft) in% | T B ape matios rlons clope ratios
plus depth of cover (1 ft) a1 83 1 &1 71 81| 31 41 51 61 71
ft+ 1t + 1ft = é ft 0 30 40 50 60 70 80| 30 40 50 60 70
c. Upslope bgrm multiplier based on land slope 1 291 385 47 566 651 741 B 4 5% 63 7S
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e. Drop in elevation = rock layer width (D2) x 3 |242 303 357 405 449 488 s88 833 M54 1591
percent landslope (C5) + 100 o |23 294 345 390 430 465| 4m 625 909 1304 183
10 ftx 7 % +100 = 7 e ! ft 10 231 286 333 375 412 44d4| 429 667 1000 1500 23.33
f. Downslope mound helght = depth of clean 1 |226 278 323 361 395 426) 448 714 111 1265 3043
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h. Downslope width = downslope multiplier
(G2g) times f"“ slope m~- nd height (G2f)
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i. Select the g'reater of 1 and G2h as the
downslope width: ___ 1@ _ft

j. Total mound width is the sum of upslope
width (G2d) width plus rock layer width
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k. Total mound 1ength is the sum of upslope width (G2d)
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plus rock Iayer length 93 plus upslope width (G2d)
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